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Time Event
0s Parachuter steps out of plane
10s Parachuter reaches a first terminal velocity of -55m/s
90s Parachuter pulls chute cord. Chute deploys.
98s Parachuter reaches a second terminal velocity of -3m/s
5008 Parachuter lands
Parachuter Parachuter ) j
Time Mass Weight Force of Drag Net Force Acceleration Velocity
, Az A
0s 100kg «Q%O /‘/ oV "ng'q/ '9'}!” O
4
5s I’QD k) *Qgp A/ 500N Upward | = qga” "7’ g ’A[S 35 m/s
Z’ - Cad
w | 1005 Logon | 990N | gN | O~fi |-55nk
97s , 00 k) ’q g 0 N saoonupward | 220 N| 2.2 ""/ s&| sws
|34
3005 'i}i?k) "?QDN QQON ON 04-?./5 2
Problems:

i

What is the mass

f an astronaut who weighs 600 pounds on the surface of Jupiter, w
0

here gjupiter = 24.8m/s??



